

# **Summary of Bids Received**

Project: Culvert Replacements 2021

**Section:** 20-00999-74-DR

**Description:** Old McHenry Rd and Kelsey Rd culvert replacements.

Bidder Copenhaver Construction, Inc. Lake County Grading Company, LLC Campanella & Sons, Inc. Berger Excavating Contractors, Inc.	Address 75 Koppie Dr. P.O. Box L 39207 N Magnetics Blvd 1205 Garland Road	City, State, Zip Gilberts, IL 60136 Libertyville, IL 60048 Wadsworth, IL 60083 Wauconda, IL 60084	Bond Bid Bond Bid Bond Bid Bond Bid Bond	<b>Bid Price</b> \$380,311.50 \$398,000.65 \$449,219.65 \$475,080.29	13.98% 28.65%	\$ Over/Under Eng. Estimate \$31,134.40 \$48,823.55 \$100,042.55 \$125,903.19
Engineer's Estimate				\$349,177.10		
Design	IDOT(2)  Bid Tab File	Contract Bidder Resident Eng.		County Engineer Agr Capital Prograr	mming	_
Construction	Project File	Request By Mail				



#### **Return Bid Tabulation**

Project: Culvert Replacements 2021

Section: 20-00999-74-DR

**Description:** Old McHenry Rd and Kelsey Rd culvert replacements.

	1		, ,		T									
Item No.	Pay Code	Description	Quantity	Unit	Eng Est	mate	Berger Excavatir	ng Contractors	Campanella a	& Sons, Inc.	Lake County Gr	Lake County Grading Company		Construction
	-	•			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	18.0	UNIT	\$40.00	\$720.00	\$75.00	\$1,350.00	\$65.00	\$1,170.00	\$75.00	\$1,350.00	\$30.00	\$540.00
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	16.0	UNIT	\$45.00	\$720.00	\$75.00	\$1,200.00	\$75.00	\$1,200.00	\$150.00	\$2,400.00	\$45.00	\$720.00
3	20800150	TRENCH BACKFILL	171.0	CU YD	\$62.50	\$10,687.50	\$71.00	\$12,141.00	\$99.40	\$16,997.40	\$60.00	\$10,260.00	\$33.00	\$5,643.00
4	21101615	TOPSOIL FURNISH AND PLACE, 4"	662.0	SQ YD	\$12.00	\$7,944.00	\$5.50	\$3,641.00	\$6.05	\$4,005.10	\$0.10	\$66.20	\$5.00	\$3,310.00
5	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$45.00	\$4,500.00	\$15.00	\$1,500.00	\$179.70	\$17,970.00	\$0.01	\$1.00	\$10.00	\$1,000.00
6	21400100	GRADING AND SHAPING DITCHES	200.0	FOOT	\$40.00	\$8,000.00	\$36.00	\$7,200.00	\$37.20	\$7,440.00	\$20.00	\$4,000.00	\$19.00	\$3,800.00
7	25000400	NITROGEN FERTILIZER NUTRIENT	10.0	LBS	\$10.00	\$100.00	\$1.00	\$10.00	\$1.10	\$11.00	\$1.00	\$10.00	\$1.00	\$10.00
8	25000600	POTASSIUM FERTILIZER NUTRIENT	10.0	LBS	\$10.00	\$100.00	\$1.00	\$10.00	\$1.10	\$11.00	\$1.00	\$10.00	\$1.00	\$10.00
9	25100630	EROSION CONTROL BLANKET	578.0	SQ YD	\$10.00	\$5,780.00	\$2.00	\$1,156.00	\$2.20	\$1,271.60	\$1.00	\$578.00	\$3.00	\$1,734.00
10	28000305	TEMPORARY DITCH CHECK	28.0	FOOT	\$20.00	\$560.00	\$25.00	\$700.00	\$38.00	\$1,064.00	\$15.00	\$420.00	\$17.00	\$476.00
11	28000400	PERIMETER EROSION BARRIER	488.0	FOOT	\$10.00	\$4,880.00	\$5.00	\$2,440.00	\$5.00	\$2,440.00	\$4.00	\$1,952.00	\$5.00	\$2,440.00
12	28100107	STONE RIPRAP, CLASS A4	81.0	TON	\$90.00	\$7,290.00	\$180.00	\$14,580.00	\$199.20	\$16,135.20	\$120.00	\$9,720.00	\$96.00	\$7,776.00
13	28200200	FILTER FABRIC	99.0	SQ YD	\$6.00	\$594.00	\$6.00	\$594.00	\$6.00	\$594.00	\$3.00	\$297.00	\$6.00	\$594.00
14	35101400	AGGREGATE BASE COURSE, TYPE B	73.0	TON	\$100.00	\$7,300.00	\$71.00	\$5,183.00	\$82.35	\$6,011.55	\$27.00	\$1,971.00	\$35.00	\$2,555.00
15	44000100	PAVEMENT REMOVAL	45.0	SQ YD	\$26.00	\$1,170.00	\$24.00	\$1,080.00	\$65.90	\$2,965.50	\$30.00	\$1,350.00	\$33.00	\$1,485.00
16	44213200	SAW CUTS	333.0	FOOT	\$10.00	\$3,330.00	\$14.00	\$4,662.00	\$7.00	\$2,331.00	\$11.00	\$3,663.00	\$5.00	\$1,665.00
17	48101200	AGGREGATE SHOULDERS, TYPE B	29.0	TON	\$100.00	\$2,900.00	\$85.00	\$2,465.00	\$138.25	\$4,009.25	\$75.00	\$2,175.00	\$65.00	\$1,885.00
18	50105220	PIPE CULVERT REMOVAL	189.0	FOOT	\$32.00	\$6,048.00	\$125.00	\$23,625.00	\$54.85	\$10,366.65	\$10.00	\$1,890.00	\$89.00	\$16,821.00
19	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1.0	EACH	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$6,797.05	\$6,797.05	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00
20	50201102	COFFERDAM (TYPE 1) (LOCATION - 2)	1.0	EACH	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$6,797.05	\$6,797.05	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00
21	50201103	COFFERDAM (TYPE 1) (LOCATION - 3)	1.0	EACH	\$10,000.00	\$10,000.00	\$7,200.00	\$7,200.00	\$17,088.15	\$17,088.15	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00
22	50201104	COFFERDAM (TYPE 1) (LOCATION - 4)	1.0	EACH	\$10,000.00	\$10,000.00	\$7,200.00	\$7,200.00	\$17,088.15	\$17,088.15	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00



#### **Return Bid Tabulation**

Project: Culvert Replacements 2021

Section: 20-00999-74-DR

**Description:** Old McHenry Rd and Kelsey Rd culvert replacements.

	Let Date: 7/12/2022												
23	54213660 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	2.0	EACH	\$1,800.00	\$3,600.00	\$1,500.00	\$3,000.00	\$2,177.85	\$4,355.70	\$2,200.00	\$4,400.00	\$1,100.00	\$2,200.00
24	54213663 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	1.0	EACH	\$2,000.00	\$2,000.00	\$1,850.00	\$1,850.00	\$2,499.15	\$2,499.15	\$2,330.00	\$2,330.00	\$1,200.00	\$1,200.00
25	54213699 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 54"	2.0	EACH	\$4,500.00	\$9,000.00	\$7,000.00	\$14,000.00	\$6,714.40	\$13,428.80	\$16,000.00	\$32,000.00	\$7,900.00	\$15,800.00
26	54213705 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 60"	2.0	EACH	\$5,000.00	\$10,000.00	\$9,500.00	\$19,000.00	\$7,438.00	\$14,876.00	\$19,000.00	\$38,000.00	\$8,900.00	\$17,800.00
27	542A1099 PIPE CULVERTS, CLASS A, TYPE 2 54"	110.0	FOOT	\$300.00	\$33,000.00	\$415.00	\$45,650.00	\$419.70	\$46,167.00	\$350.00	\$38,500.00	\$447.00	\$49,170.00
28	542A1105 PIPE CULVERTS, CLASS A, TYPE 2 60"	64.0	FOOT	\$325.00	\$20,800.00	\$875.00	\$56,000.00	\$608.80	\$38,963.20	\$550.00	\$35,200.00	\$525.00	\$33,600.00
29	550A0360 STORM SEWERS, CLASS A, TYPE 2 15"	16.0	FOOT	\$90.00	\$1,440.00	\$145.00	\$2,320.00	\$121.70	\$1,947.20	\$130.00	\$2,080.00	\$125.00	\$2,000.00
30	550A2530 STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2 15"	65.0	FOOT	\$100.00	\$6,500.00	\$145.00	\$9,425.00	\$100.95	\$6,561.75	\$80.00	\$5,200.00	\$105.00	\$6,825.00
31	55100700 STORM SEWER REMOVAL 15"	71.0	FOOT	\$25.00	\$1,775.00	\$59.00	\$4,189.00	\$15.00	\$1,065.00	\$40.00	\$2,840.00	\$19.00	\$1,349.00
32	55100900 STORM SEWER REMOVAL 18"	8.0	FOOT	\$30.00	\$240.00	\$140.00	\$1,120.00	\$50.00	\$400.00	\$10.00	\$80.00	\$35.00	\$280.00
33	60100905 PIPE DRAINS 4"	20.0	FOOT	\$45.00	\$900.00	\$50.00	\$1,000.00	\$68.15	\$1,363.00	\$40.00	\$800.00	\$19.00	\$380.00
34	60100915 PIPE DRAINS 6"	100.0	FOOT	\$50.00	\$5,000.00	\$54.00	\$5,400.00	\$49.10	\$4,910.00	\$0.01	\$1.00	\$25.00	\$2,500.00
35	60218400 MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$3,750.00	\$3,750.00	\$5,000.00	\$5,000.00	\$4,247.30	\$4,247.30	\$10,000.00	\$10,000.00	\$6,200.00	\$6,200.00
36	63200310 GUARDRAIL REMOVAL	103.0	FOOT	\$20.00	\$2,060.00	\$44.00	\$4,532.00	\$35.00	\$3,605.00	\$29.00	\$2,987.00	\$10.00	\$1,030.00
37	67100100 MOBILIZATION	1.0	L SUM	\$30,000.00	\$30,000.00	\$28,500.00	\$28,500.00	\$41,868.00	\$41,868.00	\$23,000.00	\$23,000.00	\$35,000.00	\$35,000.00
38	70307120 TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	400.0	FOOT	\$1.50	\$600.00	\$4.00	\$1,600.00	\$2.00	\$800.00	\$0.01	\$4.00	\$5.00	\$2,000.00
39	LC200051 REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$1,500.00	\$7,500.00	\$90.00	\$450.00	\$27.00	\$135.00	\$0.01	\$0.05	\$20.00	\$100.00
40	LC200451 SEEDING, SPECIAL I	4,877.0	SQ FT	\$0.50	\$2,438.50	\$0.17	\$829.09	\$0.25	\$1,219.25	\$1.50	\$7,315.50	\$0.50	\$2,438.50
41	LC200452 SEEDING, SPECIAL II	1,083.0	SQ FT	\$0.70	\$758.10	\$0.40	\$433.20	\$0.45	\$487.35	\$1.50	\$1,624.50	\$1.00	\$1,083.00
42	LC200501 MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	5,312.0	UNIT	\$1.00	\$5,312.00	\$1.00	\$5,312.00	\$1.00	\$5,312.00	\$1.00	\$5,312.00	\$1.00	\$5,312.00
43	LC500237 GRATING FOR CONCRETE FLARED END SECTION 54"	2.0	EACH	\$6,000.00	\$12,000.00	\$2,400.00	\$4,800.00	\$1,789.50	\$3,579.00	\$1,800.00	\$3,600.00	\$3,400.00	\$6,800.00



#### **Return Bid Tabulation**

Project: Culvert Replacements 2021

Section: 20-00999-74-DR

**Description:** Old McHenry Rd and Kelsey Rd culvert replacements.

	Let Date: 7/12/2022												
44	LC500238 GRATING FOR CONCRETE FLARED END SECTION 60"	2.0	EACH	\$7,000.00	\$14,000.00	\$3,800.00	\$7,600.00	\$2,801.50	\$5,603.00	\$2,100.00	\$4,200.00	\$4,900.00	\$9,800.00
45	LC800874 TEMPORARY TRAFFIC SIGNAL TIMING	8.0	EACH	\$1,000.00	\$8,000.00	\$850.00	\$6,800.00	\$305.00	\$2,440.00	\$275.00	\$2,200.00	\$500.00	\$4,000.00
46	X0426200 DEWATERING	1.0	LSUM	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$43,468.15	\$43,468.15	\$13,000.00	\$13,000.00	\$4,000.00	\$4,000.00
47	X2511630 EROSION CONTROL BLANKET (SPECIAL)	84.0	SQ YD	\$20.00	\$1,680.00	\$4.50	\$378.00	\$4.95	\$415.80	\$0.10	\$8.40	\$10.00	\$840.00
48	X4421674 CLASS D PATCHES, TYPE IV, 11 INCH (SPECIAL)	53.0	SQ YD	\$200.00	\$10,600.00	\$275.00	\$14,575.00	\$330.95	\$17,540.35	\$369.00	\$19,557.00	\$180.00	\$9,540.00
49	X4428189 CLASS D PATCHES, TYPE IV, 13 INCH (SPECIAL)	68.0	SQ YD	\$200.00	\$13,600.00	\$285.00	\$19,380.00	\$286.75	\$19,499.00	\$436.00	\$29,648.00	\$200.00	\$13,600.00
50	X7010216 TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$72,000.00	\$72,000.00	\$18,700.00	\$18,700.00	\$40,000.00	\$40,000.00	\$69,000.00	\$69,000.00
	Bid Total				\$349,177.10		\$475,080.29		\$449,219.65		\$398,000.65		\$380,311.50



**Project:** Culvert Replacements 2021

**Section:** 20-00999-74-DR

**Description:** Old McHenry Rd and Kelsey Rd culvert replacements.

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Min Rid Drice	May Rid Price	Avg. Bid Price
item ivo.	1 ay couc	Description	quantity	Ome	Unit Price	Extnd. Price	IVIIII. DIG I IICC	IVIAX. DIG I TICC	Avg. Did i nec
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	18.0	UNIT	\$40.00	\$720.00	\$30.00	\$75.00	\$61.25
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	16.0	UNIT	\$45.00	\$720.00	\$45.00	\$150.00	\$86.25
3	20800150	TRENCH BACKFILL	171.0	CU YD	\$62.50	\$10,687.50	\$33.00	\$99.40	\$65.85
4	21101615	TOPSOIL FURNISH AND PLACE, 4"	662.0	SQ YD	\$12.00	\$7,944.00	\$0.10	\$6.05	\$4.16
5	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$45.00	\$4,500.00	\$0.01	\$179.70	\$51.18
6	21400100	GRADING AND SHAPING DITCHES	200.0	FOOT	\$40.00	\$8,000.00	\$19.00	\$37.20	\$28.05
7	25000400	NITROGEN FERTILIZER NUTRIENT	10.0	LBS	\$10.00	\$100.00	\$1.00	\$1.10	\$1.03
8	25000600	POTASSIUM FERTILIZER NUTRIENT	10.0	LBS	\$10.00	\$100.00	\$1.00	\$1.10	\$1.03
9	25100630	EROSION CONTROL BLANKET	578.0	SQ YD	\$10.00	\$5,780.00	\$1.00	\$3.00	\$2.05
10	28000305	TEMPORARY DITCH CHECK	28.0	FOOT	\$20.00	\$560.00	\$15.00	\$38.00	\$23.75
11	28000400	PERIMETER EROSION BARRIER	488.0	FOOT	\$10.00	\$4,880.00	\$4.00	\$5.00	\$4.75
12	28100107	STONE RIPRAP, CLASS A4	81.0	TON	\$90.00	\$7,290.00	\$96.00	\$199.20	\$148.80
13	28200200	FILTER FABRIC	99.0	SQ YD	\$6.00	\$594.00	\$3.00	\$6.00	\$5.25
14	35101400	AGGREGATE BASE COURSE, TYPE B	73.0	TON	\$100.00	\$7,300.00	\$27.00	\$82.35	\$53.84
15	44000100	PAVEMENT REMOVAL	45.0	SQ YD	\$26.00	\$1,170.00	\$24.00	\$65.90	\$38.23



**Project:** Culvert Replacements 2021

**Section:** 20-00999-74-DR

**Description:** Old McHenry Rd and Kelsey Rd culvert replacements.

	Let Date: 7/12/2022							
16	44213200 SAW CUTS	333.0	FOOT	\$10.00	\$3,330.00	\$5.00	\$14.00	\$9.25
17	48101200 AGGREGATE SHOULDERS, TYPE B	29.0	TON	\$100.00	\$2,900.00	\$65.00	\$138.25	\$90.81
18	50105220 PIPE CULVERT REMOVAL	189.0	FOOT	\$32.00	\$6,048.00	\$10.00	\$125.00	\$69.71
19	50201101 COFFERDAM (TYPE 1) (LOCATION - 1)	1.0	EACH	\$10,000.00	\$10,000.00	\$4,000.00	\$8,000.00	\$6,199.26
20	50201102 COFFERDAM (TYPE 1) (LOCATION - 2)	1.0	EACH	\$10,000.00	\$10,000.00	\$6,000.00	\$8,000.00	\$7,199.26
21	50201103 COFFERDAM (TYPE 1) (LOCATION - 3)	1.0	EACH	\$10,000.00	\$10,000.00	\$6,000.00	\$17,088.15	\$9,572.04
22	50201104 COFFERDAM (TYPE 1) (LOCATION - 4)	1.0	EACH	\$10,000.00	\$10,000.00	\$6,000.00	\$17,088.15	\$9,572.04
23	54213660 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	2.0	EACH	\$1,800.00	\$3,600.00	\$1,100.00	\$2,200.00	\$1,744.46
24	54213663 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	1.0	EACH	\$2,000.00	\$2,000.00	\$1,200.00	\$2,499.15	\$1,969.79
25	54213699 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 54"	2.0	EACH	\$4,500.00	\$9,000.00	\$6,714.40	\$16,000.00	\$9,403.60
26	54213705 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 60"	2.0	EACH	\$5,000.00	\$10,000.00	\$7,438.00	\$19,000.00	\$11,209.50
27	542A1099 PIPE CULVERTS, CLASS A, TYPE 2 54"	110.0	FOOT	\$300.00	\$33,000.00	\$350.00	\$447.00	\$407.93
28	542A1105 PIPE CULVERTS, CLASS A, TYPE 2 60"	64.0	FOOT	\$325.00	\$20,800.00	\$525.00	\$875.00	\$639.70
29	550A0360 STORM SEWERS, CLASS A, TYPE 2 15"	16.0	FOOT	\$90.00	\$1,440.00	\$121.70	\$145.00	\$130.43
30	550A2530 STORM SEWERS, RUBBER GASKET, CLASS A, TYI	65.0	FOOT	\$100.00	\$6,500.00	\$80.00	\$145.00	\$107.74
31	55100700 STORM SEWER REMOVAL 15"	71.0	FOOT	\$25.00	\$1,775.00	\$15.00	\$59.00	\$33.25



**Project:** Culvert Replacements 2021

**Section:** 20-00999-74-DR

**Description:** Old McHenry Rd and Kelsey Rd culvert replacements.

	Let Date:	7/12/2022							
32	55100900	STORM SEWER REMOVAL 18"	8.0	FOOT	\$30.00	\$240.00	\$10.00	\$140.00	\$58.75
33	60100905	PIPE DRAINS 4"	20.0	FOOT	\$45.00	\$900.00	\$19.00	\$68.15	\$44.29
34	60100915	PIPE DRAINS 6"	100.0	FOOT	\$50.00	\$5,000.00	\$0.01	\$54.00	\$32.03
35	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$3,750.00	\$3,750.00	\$4,247.30	\$10,000.00	\$6,361.83
36	63200310	GUARDRAIL REMOVAL	103.0	FOOT	\$20.00	\$2,060.00	\$10.00	\$44.00	\$29.50
37	67100100	MOBILIZATION	1.0	L SUM	\$30,000.00	\$30,000.00	\$23,000.00	\$41,868.00	\$32,092.00
38	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	400.0	FOOT	\$1.50	\$600.00	\$0.01	\$5.00	\$2.75
39	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$1,500.00	\$7,500.00	\$0.01	\$90.00	\$34.25
40	LC200451	SEEDING, SPECIAL I	4,877.0	SQ FT	\$0.50	\$2,438.50	\$0.17	\$1.50	\$0.61
41	LC200452	SEEDING, SPECIAL II	1,083.0	SQ FT	\$0.70	\$758.10	\$0.40	\$1.50	\$0.84
42	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	5,312.0	UNIT	\$1.00	\$5,312.00	\$1.00	\$1.00	\$1.00
43	LC500237	GRATING FOR CONCRETE FLARED END SECTION 54"	2.0	EACH	\$6,000.00	\$12,000.00	\$1,789.50	\$3,400.00	\$2,347.38
44	LC500238	GRATING FOR CONCRETE FLARED END SECTION 60"	2.0	EACH	\$7,000.00	\$14,000.00	\$2,100.00	\$4,900.00	\$3,400.38
45	LC800874	TEMPORARY TRAFFIC SIGNAL TIMING	8.0	EACH	\$1,000.00	\$8,000.00	\$275.00	\$850.00	\$482.50
46	X0426200	DEWATERING	1.0	LSUM	\$10,000.00	\$10,000.00	\$4,000.00	\$43,468.15	\$22,617.04



**Project:** Culvert Replacements 2021

**Section:** 20-00999-74-DR

**Description:** Old McHenry Rd and Kelsey Rd culvert replacements.

	Let Date: 7/12/2022							
47	X2511630 EROSION CONTROL BLANKET (SPECIAL)	84.0	SQ YD	\$20.00	\$1,680.00	\$0.10	\$10.00	\$4.89
48	X4421674 CLASS D PATCHES, TYPE IV, 11 INCH (SPECIAL)	53.0	SQ YD	\$200.00	\$10,600.00	\$180.00	\$369.00	\$288.74
49	X4428189 CLASS D PATCHES, TYPE IV, 13 INCH (SPECIAL)	68.0	SQ YD	\$200.00	\$13,600.00	\$200.00	\$436.00	\$301.94
50	X7010216 TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$18,700.00	\$72,000.00	\$49,925.00
	Bid Total	Bid Total						